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H24.1.07 (%) i 7.6 2,150 49.8 iE 9.0 1,110 54.7
H24.1.08 (B) i 7.6 1,655 38.3 i 8.0 1,100 54.2
H24.1.09 (B) = 10.5 1,777 412 i 11.0 1,070 52.7
H24.1.10 (k) i 10.8 3,937 91.2 i 11.0 1,780 87.7
H24.1.11 (K) i 9.2 3,831 88.7 ) 10.0 1,800 88.7
H24.1.12 (R) i 7.4 3,961 91.8 i 7.0 1,850 91.1
H24.1.13 (£) i 8.6 3,075 71.2 & 10.0 1,750 86.2
H24.1.14 () £ 8.3 2,212 51.2 = 8.0 1,120 55.2
H24.1.15 (B) = 7.8 2,013 46.6 £ 8.0 1,040 51.2
H24.1.16 (R) = 6.0 4,098 94.9 = 6.0 1,850 91.1
H24.1.17 (k) i 9.4 3,719 86.1 & 11.0 1,800 88.7
H24.1.18 (K) i 10.6 3,782 87.6 i 11.0 1,800 88.7
H24.1.19 (K) 55| 1.4 3,889 90.1 5] 8.0 1,830 90.1
H24.1.20 (&) = 9.6 3,906 90.5 = 10.0 1,760 86.7
H24.1.21 (%) 58] 9.5 2,359 54.6 55 10.0 1,180 58.1
H24.1.22 (B) i 10.8 1,725 40.0 = 11.0 1,070 52.7
H24.1.23 (A) | M&RE | 94 3,850 89.2 i 10.0 1,750 86.2
H24.1.24 () = 5.2 3,827 88.6 = 6.0 1,810 89.2
H24.1.25 (5K) i 5.1 3,847 89.1 & 6.0 1,840 90.6
H24.1.26 (K) i 5.4 4,130 95.7 i 6.0 1,840 90.6
H24.1.27 (£) i 7.1 3,748 86.8 = 8.0 1,770 87.2
H24.1.28 (1) = 7.8 2,463 57.1 = 9.0 1,140 56.2
H24.1.29 (B) = 5.5 1,910 442 & 6.0 1,090 53.7
H24.1.30 (B) i 7.1 3,855 89.3 = 7 1,840 90.6
H24.1.31 (k) |FERE R E| 6.8 4,006 92.8 i 8 1,840 90.6
H24.2.01 OK) |E—B5FE| 7.7 3,733 86.5 = 8 1,820 91.9
H24.2.02 (K) = 3.0 3,679 85.2 & 4 1,890 95.5
H24.2.03 (£) i 4.2 3,906 90.5 i 5 1,890 95.5
H24.2.04 (1) i 6.8 2,404 55.7 & 8 1,190 60.1
H24.205 (B) | B%&E | 88 1,805 418 i 9 1,100 55.6
H24.2.06 (A) 58] 10.7 3,833 88.8 55 10 1,840 92.9




